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S1:=0;
adIn(x)
cas

end;
1=1+1;
until 1=20;
writeln(S1:10,P2:10);
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B2. EpgaviCovtot ou tipéc 3.4,5.2.

B3. Appm

AwPoace x

Av x>0 tote y=Xx
AlMOG y=-x <>
Avy<=4
T0TE
Eravahofe
y=y+l
Epedvice
Méypry
Eppavice x
Téhog %

if
if

begin
readln(a,b,c);
while (a<>b) OR

begin

(b<>¢) OR (c<>a) do

max:=fl(a,b,c);
writeln('O peyoivtepog eivon ', max);
readln(a,b,c);
end;
end.
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I'2. program theme3b;
var
a,b,c,max: real;
procedure pl(x,y,z: real; var max: real);

begin
max:=x;
if (y>max) then max:=y;
if (z>max) then max/*xz;
end; )<§
begin
readln(a,b,c); Q
while (a<>b) OR (b<>c¢) <>a) do
begin
pl(a,b,
pog givon ', max),
end;

end.

OEMA A %
program thema4;
var

writeln('TIéca oet kEPOIGE 0 PrhoEevovuevod');
readln(b);
if (edra="ENTOY') then
begin
if (a>b) then
begin
if (a-b>1) then sum:=sum+3
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else sum:=sum+2;

end
else
begin
httes:=httes+1;
if (b-a=1) then sum:=sum+1
end

else

end;
writeln(sum:
end.
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